v VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

CONSTRUCTION INC.

TABLE OF CONTENTS

General ANChor BOIENOTES ......vveiiccee e e 3
ABOOT0PE — ANchor BOIt Plan...........o o 5
ABOO020PE - Sidewall Or Endwall Column Setback.............c.ccoiiieiiiiiiiiiinennnn. 6
ABOO30PE — Column At Finish FIOOr .........cccooviiiiiii e 8
ABOO40PE — Column Base POCKEet...........ccooiiiiiiiiii e 10
ABOOS0PE — Base Plate With Grout Required............cccooeviiiiiiiiiiiiici e 11
ABOOGOPE — Endwall Column Inset Detail — (Cold Form).............ocoeviiiiiiiininnnnn 13
ABO070PE — Endwall Column Bypass Detail — (Cold Form)............ccccoeeen. 15
ABOO8OPE — Endwall Column Inset Detail — (Built - Up)........ccooviieiiiiiiiinne, 16

Fixed Base Post & Beam Corner Columns (Inset Girt Conditions).............cccceeevennnn..e. 17
L0 1 I I PP 17
BUBRT PE ... e e e e e e e e e e anaaa 20
BUBLB _PE ..ot e e e e e e e e e e aaaa 22
BUBRB _PE ... e e e e aaaa 24

Fixed Base Post & Beam Corner Columns (Bypass Girt Condition)..............cc..ceevenenn 26
BUBBLTPE ..ot e et e e et e e e e e e e e e e e e e eannns 26
BUBBRTPE . ...t e e e e et e e e e e e e e e e aennnns 28
BUBBLBPE ... e e e e e e e e aaaaa 30
BUBBRBPE ...t 32

Single Or Double Cee Post & Beam Corner Columns...........ccccocoviiiiiiiiecciin e 35
AT PE e 35
CART _PE .o e 36
CALB PE... oo e 37
@7 ] = S 39

Built - Up ENAwall COIUMNS ... e e e e 42
BUALX PE ..o 42
BUAARX PE ..ottt e aaanan 44

Fixed Base Intermediate Endwall COlUMNS...........oooiviiiiiiiiiiii e 45
BUBLX PE ..o e aaaaa 45
BUBRX PE ...t e e e e e e e e e e eaaaa 47

Single Or Double Cee Endwall COlUMNS..........coiiiiiiiiiii e 49

C4LI_PE. 50



@7 51
Built - Up Rigid Frame Corner ColumNS...........oiiiiiiiiiii e 54

BUB T PE .ot e e e e et e e e e e et e ees
30
BUBTR PE ..o
31
BUBBL _PE ...t
32
BUBBR _PE ... ettt e e e e e e e e e e e eeaaaa
33

Built - Up Rigid Frame Sidewall Details ... 34
BUB T X PE ettt e e e e e e e e e e eeaa e e e eeaaaas 34
BUBBX PE ..o
35

Pipe & Tube Interior COIUMNS ..........ouuiiiii e 36
O 1\ o P 36
T O |\ o
37

Built - Up Interior CoOIUMNS ......ooee e e 38
BUAIN PE ...ttt e e e e e e e e e e e e e e eaaeeeeeas 38
BUBIN PE ...ttt e e et e e et e e e e e e e e eaaeeeeeas
39
ABO180PE — Sidewall Portal Frames — General Information ..............ccccoeuven.
40

Sidewall Portal Frame Corner COIUMNS .......ovuiieiieee e e 41
P BTL _PE ..o et e et 41
O I = S = PSSR
42
PCBBL _PE ...t e e e e eaaaa
43
001 =] o G = SRR
44



/ V AI:EJ:EEI;¥ PROBUET & ENGINEERING MANUAL

>

CONSTRUCTION INC.

PCBBLXPE ...t e e
45

PCBBRXPE ... ..ottt e e e e e e e e ————- 46
O I 00, e U REERP 47
o O G 2 o RS
48

ABO190PE — Corner Bracing Tee Plate Details ............cccccoeviiiiiiiiiiiciiiieeeee 49

Bracing Tee Plates (At Interior Bays) .....ccoovoeeiiiiiiiee e 50

BT AL X P e 50
BT AR X P e 91
BT B X P . et er e e e e e aaaeas

52

BT AT X PE oo

53

10.0.2

GENERAL ANCHOR BOLT NOTES

BY:

1.

Valley Steel supplies (3) sets of 11” X 17” anchor bolt setting plans on all
building orders.

The anchor bolt patterns and foundation details in this section are shown
primarily to assist designers and estimators.

Anchor bolt setting plans may be drawn using the data in this section. If such
a drawing is done, it must be submitted with the building order to ensure plan
details are followed.

10.0.3
CHK:



4.  All anchor bolts are ASTM F1554 Grade 36 unless noted otherwise. Valley
Steel sizes the anchor bolt for shear and tension at the column base. All
aspects of the foundation design including anchor bolt embedment length and
development to the concrete is not by Valley Steel. The responsible architect
or engineer for a specific project must see that this is done by a professional
who is qualified for this type of work.

5. ANCHOR BOLTS AND NUTS ARE NOT SUPPLIED BY VALLEY STEEL AS
PART OF THE BUILDING ORDER.

0. In keeping with a continuing program of product development, all information
contained herein is subject to change.

7. Base plate elevation is assumed to be “at finished floor” (without grout) unless
specified otherwise on the order documents.

8. If “Bert” anchor bolt plan and reactions are used, they must be submitted with
the order documents.

9.  Standard anchor bolt projection is 3” above the bottom of the baseplate (grout
thickness needs to be added to the projection where grout is used).

10. IMPORTANT NOTE: The Valley Steel Anchor Bolt Setting Plan MUST be
used in lieu of the Architect’s Anchor Bolt Setting plan.

LAST REVISION DATE: 08/14/08 RJF _AAJ




&/ VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

ABO0010PE — ANCHOR BOLT PLAN

1. STANDARD ORIENTATION SHOWN

2. IYPICALLY SINGLE SLOPE BUILDINGS WILL BE ORIENTED
WITH THE LOW SIDEWALL AT THE BOTTOM OF THE PAGE.

Tl
Ej BACK SIDEWALL (BSW) STEEL
O . AR
_’L@/: n H@ T T T T 2 ‘\/_\y LINE
2 ‘*JF ® 1® @ @ @
- o IS =
= le) le) —
ke N N =
— O O o|<
<I,| N o™ | =
=20+ |=® | QR |—1©4|2
= O ) Q| Ll
L | [
- - —
n S & 5
L O — =B OH|— 0 |z
ok 5
|
o — | CIL CIL O
ﬁ@ @N| L H@ ][© _[© O__ Q_ ™ jfE\\ STEEL
_I H I
T 1'—47] * LINE
G% 20?_0” 207_055 ZO’_O” 20’_0”
© 0 . & 6
STEEL 80 =0 STEEL
LINE FRONT SIDEWALL (FSW) LINE
LAST REVISION DETAIL APPLICABLE
DATE: 08/14/08 10.0.5

BY: RJF CHK: AAJ




&/ VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

*NOTE: AT RIGID FRAME ENDWALLS, 1'—4 IS STANDARD SETBACK. THIS
DIMENSION WILL SCOMETIMES INCREASE DUE TO AUXILIARY CRANE COLUMN
DEPTHS ON CRANE JOBS.

NAME IF

ABO0010PE.DWG
AB0020PE — SIDEWALL OR ENDWALL COLUMN SETBACK

LAST REVISION DETAIL NAME IF APPLICABLE
DATE: 08/14/08 10.0.6
BY: RJF CHK: AAJ ABO030PE.DWG




v VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

STEEL LINE (OUTSIDE FACE OF WALL GIRTS)

12"
12" BYPASS GIRTS (BYPASS STD. @ SIDEWALL)
1 ”
+ O" 10" BYPASS GIRTS (BYPASS STD. @ SIDEWALL)
: 8” 8" BYPASS GIRTS (BYPASS STD. @ SIDEWALL)
T L 8”,10", OR 12" INSET GIRTS (INSET STD. @ ENDWALL)
]
| STRAIGHT
| OR TAPERED
| COLUMNS
‘ | [H = 2" OR 4" AT 3/4” OR 1" BOLTS
| | = 3-1/2" AT 1-1/4" BOLTS
| H A A | [A EACH ADDITIONAL SET OF ANCHOR
[ ’ [ BOLTS REQUIRED (BASED ON DESIGN)
| IS SPACED AT 4" OR 5” ON CENTER.
NI .. |
/ 4”"x4” BOLT PATTERN
/ AT 3/4" OR 1" DIA
ANCHOR BOLTS
/ 5"x5" BOLT PATTERN
/ AT 1—1/4" DIA
-— - — — — — ANCHOR BOLTS
LASTDETAIL APPLICABLE
DATE: 10.0.7

BY: CHK:



%/ VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

CONSTRUCTION INC.

REVISION NAME IF
08/28/09
DLC AES AB0020PE.DWG

ABO030PE — COLUMN AT FINISH FLOOR

COLUMN
//_
e

FINISHED
FLOOR

_\\\\ . . .

AN /
\\\ /// SEE NOTE 2
\ /

. —__/ —

LAST REVISION DETAIL NAME IF APPLICABLE
DATE: 08/14/08 10.0.8
BY: RJF CHK: AAJ ABO030PE.DWG




v VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

NOTES

1. THIS CONDITION IS STANDARD AT ALL COLUMNS. IF COLUMN IS

TO BE RECESSED BELOW FINISH FLOOR (ABOO40PE), IT MUST
BE REQUESTED AND QUOTED AS AN OPTION.

2. ANCHOR BOLT LENGTH TO BE DETERMINED BY FOUNDATION

ENGINEER FOR APPROPRIATE REACTIONS AND FOUNDATION
CONDITIONS.

LASTDETAIL APPLICABLE

DATE: 10.0.9
BY: CHK:




v VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

ABO0040PE — COLUMN BASE POCKET

NOTES
COLUMNS MAY BE PLACED IN POCKET TO CONCEAL BASE PLATE

AND ANCHOR BOLTS.

2. THIS CONDITION MUST BE REQUESTED AND QUOTED AS AN
OPTIONAL CONDITION. THE STANDARD CONDITION IS FOR THE BASE
PLATE TO BE AT FINISHED FLOOR.

5. ANCHOR BOLT LENGTH TO BE DETERMINED BY FOUNDATION ENGINEER
FOR APPROPIATE REACTIONS AND FOUNDATION CONDITIONS.

—_—
.

LAST REVISION DETAIL | NAME IF APPLICABLE

DATE: 08/14/08 10.0.10
BY: RJF CHK: AAJ ABO030PE.DWG




v VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

| _—CcoLuMN
i
4 37 CLEAR
FINISHED ALL AROUND
FLOOR\ BASE PLATE
S 7 TVARIES -
\ . A & . / SPECIFY
/ 9
\ / SEE
\ / NOTE 3
\ —J) —J / .
~. — — — _— _/

ABO0S0PE — BASE PLATE WITH GROUT REQUIRED

LAST REVISION DETAIL NAME IF APPLICABLE
DATE: 08/14/08 10.0.11

BY: RJF CHK: AAJ ABO0030PE.DWG




%/ VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

[ ) \ ]

lr U

LAST REVISION DETAIL NAME IF APPLICABLE
DATE: 08/14/08 10.0.12
BY: RJF CHK: AAJ ABO030PE.DWG




%/ VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

SEE BELOW 1,

. ﬂ_'c\ fimi |

H =/ = -

NN
COLUMN FLANGE
ToP OF % T"FOR_3/4”, 17 AND 1 1/4” BOLT DIAMETERS
CONCRETE | ] J A 3" PROJECTION (MINIMUM) FROM THE
l § 4 BOTTOM OF THE BASEPLATE IS REQUIRED.
" L%J VARIES — SPECIFY

SPECIFIED BY NBS. LENGTH

-/ OF EMBEDMENT AND ANCHORAGE

SHIM PLATES DETAILS ARE BY THE ENGINEER
IF REQUIRED DESIGNING THE FOUNDATIONS.

I Lﬂw/\
L ANCHOR BOLT DIAMETER 1S
)

(NOT BY NUCOR
ABO060PE — ENDWALL COLUMN INSET DETAIL — (COLD FORM)

LAST REVISION DETAIL | NAME IF APPLICABLE

DATE: 08/14/08 10.0.13
BY: RJF CHK: AAJ ABO030PE.DWG




v VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

NOTE: FOR EASE OF FABRICATICN, COLD—FORMED COLUMNS
—  MAY HAVE (6) BASEPLATE HOLES. ANCHOR BOLIS ARE
REQUIRED AS SHOWN ON THE DETAILS.

CENTERLINE OF DOUBLE CEE
OR BACK OF SINGLE CEE

+—— STEEL LINE OF ENDWALL

ENDWALL
COLUMN
SPACING
—
MCOLD—I—“ORMED CEE
2" 4" ENDWALL COLUMN
L 4
t

17 8" MINIMUM

1
NOTE

1. NUCOR DESIGNS THE ANCHOR BOLT FOR SHEAR AND TENSION
FORCES, BUT DOES NOT DETERMINE THE EMBEDMENT LENGTH.
THIS IS THE RESPONSIBILITY OF THE FOUNDATION ENGINEER.

LAST REVISION DETAIL NAME IF APPLICABLE
DATE: 08/14/08 10.0.14
BY: RJF CHK: AAJ ABO030PE.DWG




&/ VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

AB0070PE — ENDWALL COLUMN BYPASS DETAIL — (COLD FORM)

NOTE: FOR EASE OF FABRICATION, COLD-FORMED COLUMNS
MAY HAVE (6) BASEPLATE HOLES. ANCHOR BOLTS ARE
REQUIRED AS SHOWN ON THE DETAILS.

. STEEL LINE OF ENDWALL
CENTERLINE OF DOUBLE CEE
OR BACK OF SINGLE CEE
— 1
2"
ENDWALL
COLUMN o
SPACING
\LCOLD-FORMED CEE
) ) ENDWALL COLUMN
| 2 4
(8" GIRTS) 8
110" GIRTS) 10 8" MINIMUM
(8" GIRTS) 1'-0"
T (10" GIRTS) 1'=2"
NOTE

1. NUCOR DESIGNS THE ANCHOR BOLT FOR SHEAR AND TENSION FORCES,
BUT DOES NOT DETERMINE THE EMBEDMENT LENGTH. THIS IS THE
RESPONSIBILITY OF THE FOUNDATION ENGINEER.

LAST REVISION DETAIL APPLICABLE

DATE: 08/14/08 10.0.15
BY: RJF CHK: AAJ




%/ VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

CONSTRUCTION INC.

NAME IF

ABO0070PE.DWG
ABO08OPE — ENDWALL COLUMN INSET DETAIL — (BUILT - UP)

CENTERLINE CF FRAME OR ENDWALL COLUMN

}— STEEL LINE OF SIDEWALL OR ENDWALL
- | - 4”x4” BOLT PATTERN
=|5 | AT 3/4” OR 1" DIA
T ©—0 o zI2 ANCHOR BOLTS
S = ,
COLUMN e 3|3 |57x5” BOLT PATTERN
SPACING . T AT 1—1/4" DIA
4 4 ~ 8 ANCHOR BOLTS
\H—COLUMN MAY BE WELDED
H | A BUILT-UP SECTION OR
? WIDE—FLANCE SECTION.
171 8” MIN AT EW m = 2 OR 47 AT 3/4” OR 1” BOLTS
127 MIN AT SW = 3—1/2" AT 1—1/4" BOLTS
® = 2" OR 2-1/2"
LAST REVISION DETAIL APPLICABLE
DATE: 09/27/11 10.0.16

BY: RT CHK: EGB



%/ VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

CONSTRUCTION INC.

A EACH ADDITIONAL SET OF ANCHOR
BOLTS REQUIRED (BASED ON DESIGN)
IS SPACED AT 4" OR 5" ON CENTER.

NOTE

1 NUCOR DESIGNS THE ANCHOR BOLT FOR SHEAR AND TENSION
FORCES, BUT DOES NOT DETERMINE THE EMBEDMENT LENGTH.
THIS IS THE RESPONSIBILITY OF THE FOUNDATION ENGINEER.

REVISION NAME IF

08/28/09
DLC AES ABO08SOPE.DWG

FIXED BASE POST & BEAM CORNER COLUMNS (INSET GIRT CONDITIONS)

BUSLT PE

LASTDETAIL APPLICABLE

DATE: 10.0.17
BY: CHK:




VALLEY
PRODUCT & ENGINEERING MANUAL

\&

$
5’:
) ,]n
ki
N N N i
\J/ \}/ L/ \J/ B
(N
¢ i
o
T\ N N N
N/ N 1 N/
L L LA
d‘BL 4 ,]/2" 5n 5:: 2”
* b S
*MAY VARY PER DESIGN
(8) ® ANCHOR
BOLTS WITH A 3" PROJECTION

LAST REVISION DETAIL APPLICABLE

DATE: 09/27/11 10.0.18
BY: RT CHK: EGB




v VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

NAME IF
BUSLT_PE.DWG

LASTDETAIL APPLICABLE

DATE: 10.0.19
BY: CHK:




v VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

BUSRT PE

LAST REVISION DETAIL APPLICABLE

DATE: 09/27/11 10.0.20
BY: RT CHK: EGB




v VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

$
27 57 5" 4 1/27
* * :ﬂ-
) |
7] M 7 B
JaR) 4R N N
S 1/ N N N
N
A ¢
N
N fi\ fi\ fl‘\ JAR)
S/ Y
1 ”
5”
*MAY VARY PER DESIGN i
LAST REVISION DETAIL APPLICABLE
DATE: 09/27/11 10.0.21

BY: RT CHK: EGB



%/ VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

CONSTRUCTION INC.

(8) @ ANCHOR
BOLTS WITH A 37 PROJECTION
NAME IF
BUSRT_PE.DWG
BUSLB PE
LAST REVISION DETAIL APPLICABLE
DATE: 09/27/11 10.0.22

BY: RT CHK: EGB



v VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

i:}é 5»
1”
N N N N
1/ N 1/ 1/ s
N
¢ |
(@
N N R N
N L/ L/ L/
ki
:_ 4 1/2” 5n 5n 2::
% %
$
*MAY VARY PER DESIGN

LAST REVISION DETAIL APPLICABLE

DATE: 09/27/11 10.0.23
BY: RT CHK: EGB




%/ VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

CONSTRUCTION INC.

(8) ®» ANCHOR
BOLTS WITH A 37 PROJECTION
NAME IF
BUSLB_PE.DWG
BUSRB PE
LAST REVISION DETAIL APPLICABLE
DATE: 09/27/11 10.0.24

BY: RT CHK: EGB



&/ VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

5" $
1”
A A AL
S 2 | el L
N
R — ¢
(@
T4 Jd 4 N
N N N 1/
D" 5" 57 14 1/27 .
* %k
$
“MAY VARY PER DESIGN

LAST REVISION DETAIL APPLICABLE

DATE: 09/27/11 10.0.25
BY: RT CHK: EGB




%/ VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

(8) @ ANCHOR
BOLTS WITH A 3” PROJECTION

NAME IF

BUSRB_PE.DWG
FIXED BASE POST & BEAM CORNER COLUMNS (BYPASS GIRT CONDITION)

BUBSLTPE

LAST REVISION DETAIL APPLICABLE

DATE: 09/27/11 10.0.26
BY: RT CHK: EGB




v VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

:ﬂ— 4,, 5’, I’ 5n 4,,
.~| * ’! *
A E P s % A
S N N, P
& —
, {%H & e ﬁ@ -
b
B
A

*MAY VARY PER DESICN

LAST REVISION DETAIL APPLICABLE

DATE: 09/27/11 10.0.27
BY: RT CHK: EGB




v VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

(8) @ ANCHOR
BOLTS WITH A 3” PROJECTION

A=8",10", 12"
B = “A” MINUS 2~
NAME IF
BUBSLTPE.DWG
BUBSRTPE
LAST REVISION DETAIL APPLICABLE
DATE: 09/27/11 10.0.28

BY: RT CHK: EGB



v VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

T
4 ” ) 5 ” 4 1 :ﬂ—
* 1 * |
) S &P
= . A (I;_
o A A WA
Y YWY I
p
B
A
*MAY VARY PER DESIGN

LAST REVISION DETAIL APPLICABLE

DATE: 09/27/11 10.0.29
BY: RT CHK: EGB




&/ VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

(8) ® ANCHOR
BOLTS WITH A 3” PROJECTION

A — 8”’ 10”, 12”
B =“A” MINUS 2~
NAME IF
BUBSRTPE.DWG
BUBSLBPE
LAST REVISION DETAIL APPLICABLE
DATE: 09/27/11 10.0.30

BY: RT CHK: EGB



v VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

¥ 2 99 y
47 0 O 4
~ * 1| 1| *
p
M )
N N N
[@N|
T
) ) ™
N N
<
|
- | B
A

“

7

*MAY VARY PER DESIGN

LAST REVISION DETAIL APPLICABLE

DATE: 09/27/11 10.0.31
BY: RT CHK: EGB




v VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

(8) ® ANCHOR
BOLTS WITH A 3” PROJECTION

A=8",10", 12"
B =“A” MINUS 2~
NAME IF
BUBSLBPE.DWG

\

BUBSRBPE

LAST REVISION DETAIL APPLICABLE
DATE: 09/27/11 10.0.32

BY: RT CHK: EGB



%/ VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

. L
* 1 1 ” 3
! |
A A s
5 Y Y NP
N
o
N
oL Y N,
L
|
B -
A4 <
A |
-~
24

*MAY VARY PER DESIGN

LAST REVISION DETAIL APPLICABLE

DATE: 09/27/11 10.0.33
BY: RT CHK: EGB




&/ VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

(8) @ ANCHOR
BOLTS WITH A 3” PROJECTION

A=8",10", 12"
B = “A” MINUS 2~
NAME IF
BUBSRBPE.DWG
LAST REVISION DETAIL APPLICABLE
DATE: 09/27/11 10.0.34

BY: RT CHK: EGB



<$;V/' VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

SINGLE OR DOUBLE CEE POST & BEAM CORNER COLUMNS

CALT PE
SIDEWALL STEEL LINE

\_.

ORIENT THE "TOES™ OF
SINGLE—-CEE COLUMNS
TOWARD THE LOW EAVE

8 1/2" MIN.
17=0 1/2" MAX.

1 ’_4),
¢ ENDWALL STEEL LINE ?

2N )
ot e | _AT(D
! Iy
| [
| _E} (NP2
[ — ]
\/ A ‘ 2” 4”
1 |
P ¢
L L
A 4l

BASEPLATE MAY HAVE MORE THAN (4) HOLES.
ANCHOR BOLTS ARE REQUIRED ONLY AS SHOWN.

(4) 3/4" ¢ ANCHOR
BOLTS WITH A 3" PROJECTION

« Double Cee Columns are factory welded together. Base Plates and Cap Plates are also
factory welded.

A= 0" — FLUSH
1" — INSET
8" — 8" BYPASS GIRTS
10" — 10" BYPASS GIRTS

LAST REVISION DETAIL APPLICABLE

DATE: 08/14/08 10.0.35
BY: RJF CHK: AAJ




<$§’/' VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

12" — 12" BYPASS GIRTS

NAME IF
CALT_PE.DWG

C4ART PE

SIDEWALL STEEL LINE =

ORIENT THE "TOES"™ OF
SINGLE-CEE COLUMNS
TOWARD THE LOW EAVE

8 1/2" MIN.
T17=0 1/27 MAX.

ENDWALL STEEL LINE

8 b2 )
F
C

¢ ®
N J
y X
BASEPLATE MAY HAVE MORE THAN (4) HOLES.
ANCHOR BOLTS ARE REQUIRED ONLY AS SHOWN.,

(4) 3/4" @ ANCHOR
BOLTS WITH A 3" PROJECTION

LAST REVISION DETAIL APPLICABLE

DATE: 08/14/08 10.0.36
BY: RJF CHK: AAJ




v VALLEY
/ STEE

PRODUCT & ENGINEERING MANUAL

» Double Cee Columns are factory welded together. Base Plates and Cap Plates are also

factory welded.

A= 0" — FLUSH
1" — INSET
8" — 8" BYPASS GIRTS
10" — 10" BYPASS GIRTS
12" — 12" BYPASS GIRTS

C4LB PE

LAST REVISION DETAIL

NAME IF
C4RT_PE.DWG

APPLICABLE

DATE: 08/14/08 10.0.37
BY: RJF CHK: AAJ




<S;V/' VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

— =
[ {B R I
I [I{=
I ]
| e J 7L:
y N
2 & & -
L_lIJ B | \V ———)
- L
— ”
“lL % 8 1/27 MIN.
- 1 ) ”
- 2 1'—=0 1/2”7 MAX.
% ORIENT THE "TOES” OF
=S = TN TOWARD THE LOW EAVE

BASEPLATE MAY HAVE MORE THAN (4) HOLES.
ANCHOR BOLTS ARE REQUIRED ONLY AS SHOWN.

(4) 3/4" © ANCHOR
BOLTS WITH A 3" PROJECTION

» Double Cee Columns are factory welded together. Base Plates and Cap Plates are also
factory welded.

A= 0” - FLUSH

17 — INSET
LAST REVISION DETAIL APPLICABLE
DATE: 08/14/08 10.0.38

BY: RJF CHK: AAJ




%/ VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

8" — 8" BYPASS GIRTS
10" — 10" BYPASS GIRTS
12" - 12" BYPASS GIRTS

NAME IF
C4LB_PE.DWG
C4RB PE
LAST REVISION DETAIL APPLICABLE
DATE: 08/14/08 10.0.39

BY: RJF CHK: AAJ




<$§’/' VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

L L
1 7
b3 ) @ bR} %
4 2 A
|
— = A =]
- I
Y [l 469_ I
™ [ |l
S N \
CD . ~— o —
[N =
NS :
Lo
b b E :
8 1/2” MIN. 0l <
1"=0 1/27 MAX. 4 -
g b —
ORIENT THE "TOES” OF O
SINGLE—CEE COLUMNS — &
TOWARD THE LOW EAVE 5
OWARD THE STEEL LINE .
BASEPLATE MAY HAVE MORE THAN (4) HOLES.
ANCHOR BOLTS ARE REQUIRED ONLY AS SHOWN.
(4) 3/4” ¢ ANCHOR
BOLTS WITH A 3" PROJECTION

« Double Cee Columns are factory welded together. Base Plates and Cap Plates are also
factory welded.

LAST REVISION DETAIL APPLICABLE

DATE: 08/14/08 10.0.40
BY: RJF CHK: AAJ




%/ VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

A= 0" — FLUSH
1" — INSET
8" — 8" BYPASS GIRTS
10" — 10" BYPASS GIRTS
12" — 12" BYPASS GIRTS

NAME IF
C4RB_PE.DWG

LAST REVISION DETAIL APPLICABLE

DATE: 08/14/08 10.0.41
BY: RJF CHK: AAJ




%/ VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

BUILT - UP ENDWALL COLUMNS

BU4LX PE

REVISION NAME IF
08/28/09

LASTDETAIL APPLICABLE

DATE: 10.0.42
BY: CHK:




v VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

DLC AES BU4LX_PE.DWG
LENGTH .
L A " A
| 1 1
I I
L 4”x4" BOLT PATTERN
- - AT 3/4" OR 17 DIA
E ol T ANCHOR BOLTS
0 .E 5"x5" BOLT PATTERN
2 {1} Q__ L AT 1—1/4" DIA
2 ANCHOR BOLTS
s |
| m = 2" OR 4” AT 3/4" OR 1" BOLTS
! = 3-1/2" AT 1-1/4" BOLTS
1& VARIES qL ® = 2" OR 2-1/2"
3 > ANCHOR A EACH ADDITIONAL (SET OF ANCHOR )
, BOLTS REQUIRED (BASED ON DESIGN
BOLTS WiTH A 5 PROJECTION IS SPACED AT 4” OR 5 ON CENTER.

A= 0" — FLUSH
1" — INSET
8" — 8" BYPASS GIRTS
10" — 10" BYPASS GIRTS
12" — 12" BYPASS GIRTS

LASTDETAIL APPLICABLE

DATE: 10.0.43
BY: CHK:




v VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

BU4RX PE
REVISION NAME IF
08/28/09
DLC AES BU4RX_PE.DWG
LASTDETAIL APPLICABLE

DATE: 10.0.44 | BY: CHK:



%/ VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

4"%4" BOLT PATTERN

1 LENGTH AT 3/4" OR 1" DIA
. A . o A | ANCHOR BOLTS
) ) || |57x5" BOLT PATTERN
AT 1-1/4" DIA
R ANCHOR BOLTS
T : B - 2 OR 4" AT 3/4° OR 1" BOLTS
Q g = 3-1/2" AT 1-1/4" BOLTS
= 2 ® = 2" OR 2-1/2"
)
& A EACH ADDITIONAL SET OF ANCHOR
BOLTS REQUIRED (BASED ON DESIGN)
| IS SPACED AT 4” OR 5" ON CENTER.
I VARIES |
(4) ® ANCHOR
BOLTS WITH A 3" PROJECTION
A=  0’—FLUSH

1" — INSET
8" — 8" BYPASS GIRTS
10" — 10" BYPASS GIRTS
12" — 12" BYPASS GIRTS
FIXED BASE INTERMEDIATE ENDWALL COLUMNS

BUSLX PE

REVISION NAME IF
09/27/11
LASTDETAIL APPLICABLE

DATE: 10.0.45
BY: CHK:




v VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

RT EGB BUSLX_PE.DWG
$
4 1/2” 5:: 5” 2”
* *
™ ] ™
N N AR A
\}/ 1/ 1/ N =
N
t—1— —F
N
T | B NP
,]n
5?’
*MAY VARY PER DESIGN
(8) @ ANCHOR
BOLTS WITH A 3”7 PROJECTION

LASTDETAIL APPLICABLE
DATE: 10.0.46 | By CHK:




v VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

**Inset Detail Shown
BUSRX PE

LASTDETAIL APPLICABLE

DATE: 10.0.47
BY: CHK:




v VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

$
2 5 5" 4 1/2
* *
. &N | <P
N
- S
[N
A A Al
N VoYY
1”
5’?

*MAY VARY PER DESIGN

(8) @ ANCHOR
BOLTS WITH A 3” PROJECTION

LASTDETAIL APPLICABLE
DATE: 10.0.48 | By CHK:




v VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

**Inset Detail Shown

REVISION NAME IF
09/27/11

RT EGB BUSRX_PE.DWG
SINGLE OR DOUBLE CEE ENDWALL COLUMNS

REVISION NAME IF
08/14/08 C4LI_PE.DWG
LASTDETAIL APPLICABLE

DATE: 10.0.49
BY: CHK:



%/ VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

RJF AAJ C4Ll PE

ORIENT THE "TOES” OF
SINGLE-CEE COLUMNS
N | TOWARD THE LOW EAVL

A 2” 4”

) ——
<

A
N2
SP

8”

STEEL LINE

5 P

Pl | | e

-
|
|
|
=

8 1/2”7 MIN.
1'=0 1/27 MAX.

BASEPLATE MAY HAVE MORE THAN (4) HOLES.
ANCHOR BOLTS ARE REQUIRED ONLY AS SHOWN.

(4) 3/4" ¢ ANCHOR
BOLTS WITH A 3" PROJECTION

« Double Cee Columns are factory welded together. Cee Column Base Plates and Cap Plates
are also factory welded.

A= 0" — FLUSH

LASTDETAIL APPLICABLE
DATE: 10.0.50 | BY: CHK:




%/ VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

1" — INSET

8" — 8" BYPASS GIRTS
10" — 10" BYPASS GIRTS
12" - 12" BYPASS GIRTS

C4RI _PE
REVISION NAME IF
08/14/08 C4RI_PE.DWG
LASTDETAIL APPLICABLE

DATE: 10.0.51
BY: CHK:



%/ VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

RJF AAJ

8 1/2” MIN.
17=0 1/27 MAX.
[— —3 ::‘
_ /l\ ) \
. \‘/ N | L
™ | Z
S~ J — N
m R 7L ] p—
- L
N s N -
N N )
4)’ 2)’ A
ORIENT THE "TOES” OF ¢ b
SINGLE—CEE COLUMNS

TOWARD THE LOW EAVE

BASEPLATE MAY HAVE MORE THAN (4) HOLES.
ANCHOR BOLTS ARE REQUIRED ONLY AS SHOWN.

(4) 3/4" ¢ ANCHOR
BOLTS WITH A 3" PROJECTION

» Double Cee Columns are factory welded together. Cee Column Base Plates and Cap Plates
are also factory welded.

A= 0" - FLUSH
1" — INSET
LASTDETAIL APPLICABLE

DATE: 10.0.52 | BY: CHK:



v VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

8" — 8" BYPASS GIRTS
10" — 10" BYPASS GIRTS
12" — 12" BYPASS GIRTS

LASTDETAIL APPLICABLE

DATE: 10.0.53
BY: CHK:




v VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

BUILT - UP RIGID FRAME CORNER COLUMNS

BUGTL PE

NOTE: The third digit of each detail name indicates the number of anchor bolts required. For
example: BUGTL requires (6) anchor bolts. BU4TL requires (4) anchor bolts.

1’_4"

—TtA—
—

A

4"x4" BOLT PATTERN

AT 3/4" OR 1" DIA
ANCHOR BOLTS

5"x5" BOLT PATTERN
AT 1-1/4" DIA
ANCHOR BOLTS

VARIES

LENGTH
d»\l’\l-

m = 2  OR 4” AT 3/4” OR 1" BOLTS
— = 3-1/2" AT 1-1/4" BOLTS
® = 2" OR 2-1/2"

|

WIDTH
A EACH ADDITIONAL SET OF ANCHOR
(6) ® ANCHOR BOLTS REQUIRED (BASED ON DESIGN)
BOLTS WITH A 3" PROJECTION IS SPACED AT 4” OR 5" ON CENTER.
LAST REVISION DETAIL APPLICABLE
DATE: 08/28/09 10.0.54

BY: DLC CHK: AES




v VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

A= 0" — FLUSH
1" — INSET
8" — 8" BYPASS GIRTS
10" — 10" BYPASS GIRTS
12" — 12" BYPASS GIRTS

NAME IF

BU6TL_PE.DWG
BU6TR PE

NOTE: The third digit of each detail name indicates the number of anchor bolts required. For
example: BUGTR requires (6) anchor bolts. BU4TR requires (4) anchor bolts.

LAST REVISION DETAIL APPLICABLE

DATE: 08/28/09 10.0.55
BY: DLC CHK: AES




VALLEY

\&

PRODUCT & ENGINEERING MANUAL

1'—4" )
¢ %
%) ! <
L]
o
< [
o | ot
A =
yan) Fa A . (@)
1/ AN ~ =Z
Al Y
D || -—F—
| ®
WIDTH
(6) ® ANCHOR

BOLTS WITH A 3" PROJECTION

A=

LAST REVISION DETAIL

DATE:

0" — FLUSH

1" — INSET

8" — 8" BYPASS GIRTS
10" — 10" BYPASS GIRTS
12" — 12" BYPASS GIRTS

NAME IF

4"x4" BOLT PATTERN

AT 3/4" OR 1" DIA
ANCHOR BOLTS

5"x5" BOLT PATTERN
AT 1-1/4" DIA
ANCHOR BOLTS

m = 2 OR 4 AT 3/4” OR 1" BOLTS
= 3-1/2" AT 1-1/4" BOLTS
® = 2" OR 2-1/2"

A FACH ADDITIONAL SET OF ANCHOR
BOLTS REQUIRED (BASED ON DESIGN)
IS SPACED AT 4" OR 5" ON CENTER.

APPLICABLE

08/28/09 10.0.56

BY: DLC CHK: AES




v VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

BU6TR_PE.DWG
BUG6BL PE

NOTE: The third digit of each detail name indicates the number of anchor bolts required. For
example: BUGBL requires (6) anchor bolts. BU4BL requires (4) anchor bolts.

4"x4" BOLT PATTERN

AT 3/4" OR 1" DIA
ANCHOR BOLTS

5"%5" BOLT PATTERN
AT 1-1/4" DIA
ANCHOR BOLTS

l

B = 2 OR 4" AT 3/4” OR 1" BOLTS
= 3-1/2" AT 1-1/4" BOLTS
® - 2" OR 2-1/2"

LENGTH

A FACH ADDITIONAL SET OF ANCHOR
BOLTS REQUIRED (BASED ON DESIGN)
IS SPACED AT 4" OR 5" ON CENTER.

VARIES

A—FEA—

(6) ® ANCHOR
BOLTS WITH A 3" PROJECTION

LAST REVISION DETAIL APPLICABLE

DATE: 08/28/09
BY: DLC CHK: AES

10.0.57




v VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

A= 0" — FLUSH
1" — INSET
8" — 8" BYPASS GIRTS
10" — 10" BYPASS GIRTS
12" - 12" BYPASS GIRTS

NAME IF
BU6BL_PE.DWG

BUG6BR PE

NOTE: The third digit of each detail name indicates the number of anchor bolts required. For
example: BUGBR requires (6) anchor bolts. BU4BR requires (4) anchor bolts.

LAST REVISION DETAIL APPLICABLE

DATE: 08/28/09 10.0.58
BY: DLC CHK: AES




&/ VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

4”x4" BOLT PATTERN

AT 3/4" OR 1" DIA
ANCHOR BOLTS

5"x5"” BOLT PATTERN
AT 1-1/4" DIA
ANCHOR BOLTS

|

B = 2 OR 4 AT 3/4° OR 1" BOLTS
= 3-1/2" AT 1-1/4" BOLTS
® = 2" OR 2-1/2"

%)
L
% A EACH ADDITIONAL SET OF ANCHOR
= | BOLTS REQUIRED (BASED ON DESIGN)
# A IS SPACED AT 4" OR 5" ON CENTER.
E i
(8) ® ANCHOR
BOLTS WITH A 3" PROJECTION
A= 0” - FLUSH

1" — INSET

8" — 8" BYPASS GIRTS
10" — 10" BYPASS GIRTS
12" — 12" BYPASS GIRTS

LAST REVISION DETAIL APPLICABLE

DATE: 08/28/09 10.0.59
BY: DLC CHK: AES




%/ VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

CONSTRUCTION INC.

NAME IF
BU6BR_PE.DWG

BUILT - UP RIGID FRAME SIDEWALL DETAILS

BU6TX PE

NOTE: The third digit of each detail name indicates the number of anchor bolts required. For
example: BUGTX requires (6) anchor bolts. BU4TX requires (4) anchor bolts.

4”"x4" BOLT PATTERN
AT 3/4" OR 1" DIA
< ANCHOR BOLTS
5"%x5" BOLT PATTERN
AT 1-1/4" DIA
ANCHOR BOLTS

]
1

VARIES

|
'Ir

2" OR 4" AT 3/4” OR 1" BOLTS
= 3-1/2" AT 1-1/4" BOLTS
2" OR 2-1/2"

LENGTH

L

A FACH ADDITIONAL SET OF ANCHOR
BOLTS REQUIRED (BASED ON DESIGN)
IS SPACED AT 4" OR 5" ON CENTER.

A 0B T 5 N NN

4

WIDTH

(6) ® ANCHOR
BOLTS WITH A 3” PROJECTION

LAST REVISION DETAIL APPLICABLE

DATE: 08/28/09 10.0.60
BY: DLC CHK: AES




v VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

A= 0" - FLUSH
1" — INSET
8" — 8" BYPASS GIRTS
10" - 10" BYPASS GIRTS
12" — 12" BYPASS GIRTS

NAME IF
BUG6TX_PE.DWG

BU6BX PE

NOTE: The third digit of each detail name indicates the number of anchor bolts required. For
example: BUGBX requires (6) anchor bolts. BU4BX requires (4) anchor bolts.

LAST REVISION DETAIL APPLICABLE

DATE: 08/28/09 10.0.61
BY: DLC CHK: AES




VALLEY
PRODUCT & ENGINEERING MANUAL

\&

4"x4" BOLT PATTERN

AT 3/4" OR 1" DIA
ANCHOR BOLTS

5"%5" BOLT PATTERN
AT 1-1/4" DIA

b

- ANCHOR BOLTS
—
O
5 m = 2" OR 4" AT 3/4” OR 1" BOLTS
- . = 3-1/2" AT 1-1/4” BOLTS
i ® - 2" OR 2-1/2"
0
T A EACH ADDITIONAL SET OF ANCHOR
< BOLTS REQUIRED (BASED ON DESIGN)
< = IS SPACED AT 4" OR 5" ON CENTER.
_\‘_@-'_
(6) ® ANCHOR
BOLTS WITH A 3" PROJECTION
A= 0" - FLUSH
17 — INSET

8" — 8" BYPASS GIRTS
10" — 10" BYPASS GIRTS
12" — 12" BYPASS GIRTS

LAST REVISION DETAIL APPLICABLE

DATE: 08/28/09 10.0.62
BY: DLC CHK: AES




v VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

NAME IF
BU6BX_PE.DWG

LAST REVISION DETAIL APPLICABLE

DATE: 08/28/09 10.0.63
BY: DLC CHK: AES




%/ VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

CONSTRUCTION INC.

PIPE & TUBE INTERIOR COLUMNS

RC4IN PE

NOTE: Pipe columns are the standard. If different shape is required, please specify in Box 28 of
the order documents.

1/2”

, 2", 27,
-
\|/

O
N

© |

> FRAME

1/211

(4) @ ANCHOR
BOLTS WITH A 3” PROJECTION

LASTDETAIL APPLICABLE

DATE: 10.0.64
BY: CHK:




%/ VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

REVISION NAME IF
08/14/08
RUF AN RC4IN_PE.DWG

SC4IN PE

v 2” 2”

1/2”

D1

~
S

-
\.

> FRAME

1/2"

(4) @ ANCHOR
BOLTS WITH A 3" PROJECTION

REVISION NAME IF

08/14/08
SC4IN_PE.DWG
LASTDETAIL APPLICABLE

DATE: 10.0.65
BY: CHK:




%/ VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

RJF AAJ

BUILT - UP INTERIOR COLUMNS

LASTDETAIL APPLICABLE

DATE: 10.0.66
BY: DLC CHK: AES




v VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

BU4IN PE

4"x4" BOLT PATTERN
IDTH ., ,
WID AT 3/4” OR 1" DIA
ANCHOR BOLTS
5"x5" BOLT PATTERN
| | AT 1—1/4” DIA
- ) A A ANCHOR BOLTS
~| o ST AN~
Z o - © ® = 2" 0R 2-1/2"
- R Jan P
1 \V
§ OF FRAME
(4) ¢ ANCHOR
BOLTS WITH A 3" PROJECTION
REVISION NAME IF 08/28/09
LASTDETAIL APPLICABLE

DATE: 10.0.67
BY: CHK:



v VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

BU4IN_PE.DWG

LASTDETAIL APPLICABLE

DATE: 10.0.68
BY: DLC CHK: AES




v VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

BUGIN PE

4”x4" BOLT PATTERN

s o AT 3/4” OR 1" DIA
ANCHOR BOLTS

5"x5" BOLT PATTERN
AT 1-1/4" DIA
ANCHOR BOLTS

LENGTH

|® = 2" OrR 2-1/2" |

A EACH ADDITIONAL SET OF ANCHOR
BOLTS REQUIRED (BASED ON DESIGN)
I IS SPACED AT 4" OR 5" ON CENTER.

OF FRAME

e

(6) ® ANCHOR
BOLTS WITH A 3” PROJECTION

NAME IF

BUGIN_PE.DWG
ABO0180PE — SIDEWALL PORTAL FRAMES — GENERAL INFORMATION

LAST REVISION DETAIL APPLICABLE

DATE: 08/28/09 10.0.69
BY: DLC CHK: AES




&/ VALLEY
/STEEL

CONSTRUCTION INC.

PRODUCT & ENGINEERING MANUAL

The detail below shows standard dimensions & anchor bolt placement for Portal Frame Columns. The
detail shows anchor bolt locations for columns with 4, 6, & 8 anchor bolt requirements.

Typically portal columns will not have more than 4 anchor bolts required and the anchor bolts will be 1

diameter. However, variations occur — please check the design information carefully.

(Note that the rigid frame column and the portal frame column may not have the same bolt quantity or

WIDTH

g
E

PORTAL FRAME
f COLUMN

4"x4" BOLT PATTERN

AT 3/4” OR 1” DIA
ANCHOR BOLTS

5"x5" BOLT PATTERN
AT 1-1/4" DIA
ANCHOR BOLTS

VARIES

diameter.)
VARIES
O -
COLUMN~ Fﬁ
THele
B
Lol
Thele e o o o
_ﬁf—é}%% © 9 © &
| | \ |
a 6_1/4” | @ | A A A
x LENGTH
=
- ¢ SIDEWALL
PCBX SHOWN

(REFER TO THE FOLLOWING PAGES FOR ADDITIONAL DETAILS)

DETAIL APPLICABLE

10.0.70
BY: DLC CHK: AES

2" OR 4° AT 3/4 OR 1° BOLTS
3-1/2" AT 1-1/4" BOLTS
2" OR 2—-1/2"

A EACH ADDITIONAL SET OF ANCHOR
BOLTS REQUIRED (BASED ON DESIGN)
IS SPACED AT 4" OR 5” ON CENTER.




&/ VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

CONSTRUCTION INC.

LAST REVISION NAME |F DATE: 08/28/09
ABO0180PE.DWG

SIDEWALL PORTAL FRAME CORNER COLUMNS

PC6TL PE
. 174"
g L SIDEWALL
T - ” 4"x4” BOLT PATTERN
- 6 1/4 | AT 3/4” OR 1" DIA
! WIDTH y LENGTH y a ANCHOR BOLTS
m ” ”
ey - 5"x5" BOLT PATTERN
u . n . AT 1—1/4" DIA
| ’ ’ ANCHOR BOLTS
3 2 | —a P2 N L
I = L7 A\ PS T
HEEN : ol — e
gl 2 ’ ot 2 B - 2 OR 4 AT 3/4 OR 1° BOLTS
| AR e — h— D —k = 3-1/2" AT 1-1/4" BOLTS
’ = 2" OR 2-1/2"
Lug
7‘?'“ ﬁm‘. A EACH ADDITIONAL SET OF ANCHOR
FRAME_‘/ |eje| VARES | A | u?;%'ﬁ%m”f BOLTS REQUIRED (BASED ON DESIGN)
EBURRT | IS SPACED AT 4" OR 5° ON CENTER.
4 @ ANCHOR ,
BOLTS WITH A 3" PROJECTION y

A= 0" — FLUSH
1" — INSET
8" — 8" BYPASS GIRTS
10" — 10" BYPASS GIRTS
12" — 12" BYPASS GIRTS

LAST REVISION DETAIL APPLICABLE

DATE: 08/28/09 10.0.71
BY: DLC CHK: AES




v VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

NAME IF
PC6TL_PE.DWG

DETAIL APPLICABLE
10.0.72

BY: DLC CHK: AES




%/ VALLEY
/STEEL

CONSTRUCTION INC.

PRODUCT & ENGINEERING MANUAL

4"x4” BOLT PATTERN

AT 3/4" OR 1" DIA
ANCHOR BOLTS

57"x5” BOLT PATTERN
AT 1—1/4" DIA
ANCHOR BOLTS

2" OR 4° AT 3/4” OR 1" BOLTS
3-1/2" AT 1-1/4" BOLTS
2" OR 2-1/2"

A EACH ADDITIONAL SET OF ANCHOR
BOLTS REQUIRED (BASED ON DESIGN)
IS SPACED AT 4" OR 5" ON CENTER.

PC6TR PE
1'-4" ,
SIDEWALL ] %
| @ 6 1/4"
1 <
ol LENGTH L WIDTH .
wl T 1 1
= { == o - -y
SN
. i u
o D D Fan - T 3
=l <@ ‘ [ =
(o] e A Q %
= o Ry Z [}
el o O - l U
0 ‘ L
PORTAL FRAME_/ A VARIES oo HL
COLUMN 4L VARlES L A 4|' EE'EM&N
(4) ¢ ANCHOR

BOLTS WITH A 3" PROJECTION

s

0" — FLUSH

1" — INSET

8” — 8" BYPASS GIRTS
LAST REVISION DETAIL

DATE: 08/28/09
BY: DLC CHK: AES

APPLICABLE

10.0.73




%/ VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

10" — 10" BYPASS GIRTS
12" — 12" BYPASS GIRTS

NAME IF
PC6TR_PE.DWG
PC6BL PE
LAST REVISION DETAIL APPLICABLE
DATE: 08/28/09 10.0.74

BY: DLC CHK: AES




%/ VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

; VARIES :
FRAME . ® ©®©_  VARIES A
COLUMN :‘. 1 —1 / COLMN e 4"x4” BOLT PATTERN
7 Am' AT 3/4” OR 1" DIA
ANCHOR BOLTS
| 19 & 4 e 5"x5" BOLT PATTERN
3z DE AcHoK Bolte
2 | o1 & 4 ==
u " B - 2 OR 4 AT 3/4 OR 1" BOLTS
N wwive vl =L —% _ _ » _ »
| WIDTH | LENGTH I.z o = 3" 1/2 AT 1"1/4 BOLTS
< T e 1 < = 2" OR 2-1/2
Nl - A EACH ADDITIONAL SET OF ANCHOR
3 T a” [ SEwALL BOLTS REQUIRED (BASED ON DESIGN)
) IS SPACED AT 4” OR 5° ON CENTER.
TN i
BOLTS WITH A 3" PROJECTION A

A= 0" - FLUSH
1" — INSET
8" — 8" BYPASS GIRTS
10" - 10" BYPASS GIRTS
12" — 12" BYPASS GIRTS

LAST REVISION DETAIL APPLICABLE

DATE: 08/28/09 10.0.75
BY: DLC CHK: AES




%/ VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

CONSTRUCTION INC.

NAME IF
PC6BL_PE.DWG
PC6BR PE

! VARIES \
PORTAL_FRAME A VARIES 9.0 FRAME
T . 4"x4" BOLT PATTERN
’ AT 3/4” OR 1” DIA
’ . _E i X ANCHOR BOLTS
S P s L 5"x5” BOLT PATTERN
= y A E AT 1-1/4" DIA
= o 45 —d}— as — 4 E ANCHOR BOLTS
’ .
(]
1y _E n [ [ B = 2 OR 4" AT 3/4" OR 1" BOLTS
x| LENGTH l WIDTH | = 3-1/2" AT 1-1/4" BOLTS
> | = ) ) "« @ = 2" OrR 2-1/2"
6 1/4"
) A EACH ADDITIONAL SET OF ANCHOR

SIDEWALL v BOLTS REQUIRED (BASED ON DESIGN)
- 1 IS SPACED AT 4" OR 5" ON CENTER.

—4 f
4) @ ANCHOR /////////
BOLTS WITH A 3" PROJECTION

A= 0" — FLUSH
LAST REVISION DETAIL APPLICABLE
DATE: 08/28/09 10.0.76

BY: DLC CHK: AES




%/ VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

1" — INSET

8" — 8" BYPASS GIRTS
10" - 10" BYPASS GIRTS
12" — 12" BYPASS GIRTS

NAME IF
PC6BR_PE.DWG

LAST REVISION DETAIL APPLICABLE

DATE: 08/28/09 10.0.77
BY: DLC CHK: AES




VALLEY

PC6BLXPE

VARIES

PRODUCT & ENGINEERING MANUAL

4"x4" BOLT PATTERN

AT 3/4” OR 1” DIA
ANCHOR BOLTS

5"x5” BOLT PATTERN
AT 1-1/4" DIA
ANCHOR BOLTS

2" OR 4" AT 3/4” OR 1” BOLTS
3-1/2" AT 1-1/4" BOLTS
2" OR 2-1/2"

A FACH ADDITIONAL SET OF ANCHOR
BOLTS REQUIRED (BASED ON DESIGN)
IS SPACED AT 4" OR 5" ON CENTER.

mwe I o o vaREs . A 1
COLUMNA\‘ 1 1 ’ﬁ PORTAL FRAME
|
i
D ——o1 o R T
9 =
Sl a rl\ o 2
W Pany Yl =
\|J A J I~
= K
N
|V > ¥ ¥ ¥ F ¥ -l
L WIDTH | LENGTH | &
< 1 1 T =
6 1/4" L] L
-~ 3 SIDEWALL ~
/

4) @ ANCHOR
BOLTS WITH A 3" PROJECTION

o

gl

LAST REVISION DETAIL
08/31/09 10.0.78

DATE:

APPLICABLE

BY: DLC CHK: AES




%/ VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

A= 0" — FLUSH
1" — INSET
8" — 8" BYPASS GIRTS
10" — 10" BYPASS GIRTS
12" - 12" BYPASS GIRTS

NAME IF
PC6BLXPE.DWG
PC6BRXPE
LAST REVISION DETAIL APPLICABLE
DATE: 08/31/09 10.0.79

BY: DLC CHK: AES




%/ VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

CONSTRUCTION INC.

" VARIES N
A, VARES @ o, FRAME ;
PRSTR T T T j coumn 4"x4" BOLT PATTERN
i AT 3/4" OR 1" DIA
E ANCHOR BOLTS
< o b;{ & 1 - ne 5"x5” BOLT PATTERN
= L Al © AT 1—1/4" DIA
2 o ’ ,L Z ANCHOR BOLTS
1= B P T - -
m [ = m = 2° OR 47 AT 3/4" OR 1" BOLTS
o — =S = 3-1/2" AT 1-1/4" BOLTS
% | LENGTH o wiotH @ = 2" OR 2-1/2"
| m | 6 1/4 <
i A EACH ADDITIONAL SET OF ANCHOR
. SoEWAL - BOLTS REQUIRED (BASED ON DESIGN)
IS SPACED AT 4" OR 5" ON CENTER.

4
4) @ ANCHOR
BOLTS WITH A 3" PROJECTION / / / / / / //

A= 0" — FLUSH
1" — INSET
8" — 8" BYPASS GIRTS
10" — 10" BYPASS GIRTS
12" — 12" BYPASS GIRTS

LAST REVISION DETAIL APPLICABLE

DATE: 08/31/09 10.0.80
BY: DLC CHK: AES




%/ VALLEY
/STEEL

CONSTRUCTION INC.

PRODUCT & ENGINEERING MANUAL

4"x4" BOLT PATTERN

AT 3/4” OR 1" DIA
ANCHOR BOLTS

5"x5" BOLT PATTERN
AT 1—1/4" DIA
ANCHOR BOLTS

2" OR 4" AT 3/4" OR 1” BOLTS
3-1/2" AT 1-1/4” BOLTS
2" OR 2-1/2

NAME IF
PC6BRXPE.DWG
PC6TLXPE
SIDEWALL
6 1/4" |
< WIDTH . LENGTH L w
[ Ll
=
P W W AW W Wy 7§
. 4 4
i .
T - T () v Y =] T
= o
S A ' I+ &
L Fany a Y Fa b =
— ) o) '_E 4 AN —
A
—if e Ci ViREs | A |\ gy e
FRAME VARIES |

A EACH ADDITIONAL SET OF ANCHOR
BOLTS REQUIRED (BASED ON DESIGN)
IS SPACED AT 4" OR 5" ON CENTER.

YN I,

A= 0” - FLUSH
LAST REVISION DETAIL APPLICABLE
DATE: 08/31/09 10.0.81

BY: DLC CHK: AES




%/ VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

1" — INSET

8" — 8" BYPASS GIRTS
10" - 10" BYPASS GIRTS
12" — 12" BYPASS GIRTS

NAME IF
PC6TLXPE.DWG

LAST REVISION DETAIL APPLICABLE

DATE: 08/31/09 10.0.82
BY: DLC CHK: AES




VALLEY
STEEL PRODUCT & ENGINEERING MANUAL

CONSTRUCTION INC.

PC6TRXPE

SIDEWALL

| m | 6 1/4" 4"x4" BOLT PATTERN

% f LENGTH ; WIDTH ¥ < ATAﬁéiIOé) RB(;LTSDIA
E " "
z_ S 5"x5" BOLT PATTERN
: \ s AT 1-1/4" DIA
ANCHOR BOLTS
= )N g ‘49‘ ' ¢ NE: :
d (@]
5 - A = B = 2 OR 4 AT 3/4 OR 1" BOLTS
Y = 3-1/2" AT 1-1/4" BOLTS

F Ay A av |

£
J

18] iy by

L0 & & |

\ © = 2" OR 2-1/2"
PORTAL_FRAME  / | A | VARES ole \\L j A EACH ADDITIONAL SET OF ANCHOR
COLUM| ) A 7

VARIES i 7 ERAME BOLTS REQUIRED (BASED ON DESIGN)

IS SPACED AT 4" OR 5" ON CENTER.
(4) @ ANCHOR 9 //// /
BOLTS WITH A 3" PROJECTION Yy

A= 0" — FLUSH

1" —INSET

8” — 8" BYPASS GIRTS
LAST REVISION DETAIL APPLICABLE
DATE: 08/31/09 10.0.83

BY: DLC CHK: AES




%/ VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

10" - 10" BYPASS GIRTS
12" - 12" BYPASS GIRTS

NAME IF

PC6TRXPE.DWG
ABO0190PE — CORNER BRACING TEE PLATE DETAILS

NOTE:
BRACING TEE PLATES ARE USED WHEN A COLUMN IS ROTATED SUCH
THAT ROD OR CABLE BRACING CANNOT PASS THROUGH THE

COLUMN’S WEB.

— SIDEWALL SIDEWALL
. POST & BEAM _
¥/ Ao - - TEE PLATEj:
<
=E COLONN @ ¢y e ¢ =k
43 3 O |~
5 o oot e o | &
R 2" a
G COL DEPTH 8”7 8" JICOL. DEPTH! G
LAST REVISION DETAIL APPLICABLE
DATE: 08/14/08 10.0.84

BY: RJF CHK: AAJ




%/ VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

G COL. DEPTH_ 8"

=
j%g «s«aeé{

SIDEWALL

X = SIDEWALL GIRT OFFSET + 6"
17 INSET + 6" = 7"

8" BYPASS + 6" = 1'-2

— 10" BYPASS + 8" = 1'-4

8" COL. DEPTH G

7 E
& &
¢ ¢

mm

ENDWALL

SIDEWALL

NOTE: WHEN THE SIDEWALL END
BAY IS BRACED AND THE ADJACENT
ENDWALL IS A POST & BEAM FRAME,
THE STANDARD IS TO USE BRACING
TEE PLATE AS SHOWN ABOVE.

LAST REVISION DATE: 07/24/12 BY: MWD CHK:_AES

DETAIL NAME IF APPLICABLE

ABO0190PE.DWG

BRACING TEE PLATES (AT INTERIOR BAYS)

BT4LX PE

10.0.85



v VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

00
- A
\_|J
83’
(4) ® ANCHOR

BOLTS WITH A 3" PROJECTION

A= GIRT OFFSET PLUS 4”

NAME IF

BT4LX_PE.DWG
LAST REVISION DETAIL APPLICABLE

DATE: 08/14/08 10.0.86
BY: RJF CHK: AAJ




v VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

BT4RX PE

A= GIRT OFFSET PLUS 4”

LAST REVISION DETAIL APPLICABLE

DATE: 08/14/08 10.0.87
BY: RJF CHK: AAJ




%/ VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

CONSTRUCTION INC.

N d
¢ .
A
2 27
o || ©
: TN
00 i ~
m [
< ||| ©
99
e
A = GIRT OFFSET PLUS 4”
LAST REVISION DETAIL APPLICABLE
DATE: 08/14/08 10.0.88

BY: RJF CHK: AAJ




%/ VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

CONSTRUCTION INC.

(4) ® ANCHOR
BOLTS WITH A 3” PROJECTION

NAME IF

BT4RX_PE.DWG
BT4BX PE

A= GIRT OFFSET PLUS 4”

LAST REVISION DETAIL APPLICABLE

DATE: 08/14/08 10.0.89
BY: RJF CHK: AAJ




v VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

v
fl\
£ N $ i
PR | - - CO
) A
& | 4
<C
2" 2"
'l »
3
My
==
A = GIRT OFFSET PLUS 4”
LAST REVISION DETAIL APPLICABLE
DATE: 08/14/08 10.0.90

BY: RJF CHK: AAJ




%/ VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

CONSTRUCTION INC.

(4) @ ANCHOR
BOLTS WITH A 3” PROJECTION

NAME IF

BT4BX_PE.DWG
BT4TX PE

A= GIRT OFFSET PLUS 4”

LAST REVISION DETAIL APPLICABLE

DATE: 08/14/08 10.0.91
BY: RJF CHK: AAJ




v VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

=
T
L
2" 2”
<C
JaA)
: N -
(@]
(2 2
- | 0
N A q;
8 b3 \‘
1
A = GIRT OFFSET PLUS 4”
LAST REVISION DETAIL APPLICABLE
DATE: 08/14/08 10.0.92

BY: RJF CHK: AAJ




%/ VALLEY
/ STEEL PRODUCT & ENGINEERING MANUAL

CONSTRUCTION INC.

(4) ® ANCHOR
BOLTS WITH A 3" PROJECTION

NAME IF
BT4TX_PE.DWG

A= GIRT OFFSET PLUS 4”

LAST REVISION DETAIL APPLICABLE

DATE: 08/14/08 10.0.93
BY: RJF CHK: AAJ




